Math 001-36, Quiz 2 (R.3and R.4), Term 141, Pagel 26-Sep-14
SN ID NAME
Show all necessary steps for full marks.

Question 1: (4 points): (R.3 Exercise 72): [(2m +7)-nT
Solution:
72. [Cm+T)=-n)
=(2m+7)* =2Q2m+T)n)+n*
= (4m® +28m +49) = 2Q2m +T7)(n) + n*
=dm” +28m+49 — dmn —14n + n*

Question 2: (4 points): (R.3 Example 12, page 28): Divide 3x°—2x?*-150 by x?*-4.

Write your answer as 21919 _ o gtient 4 XEMander
Divisor Divisor
Solution:
33X -2
3x® —2x? -150
x?—4|3x® —12x
- +
—2x% +412x -150
—-2x? 48
+ J—
12x —-158
3x®-2x?-150 12x —158
. =3k 2422 =2
X —4 X“—4

Another Method:
Ix — 2 \1{— Missing term

4 O — 432 =22 + Ox — 150 — Insert placeholders

30+ O — 1 2x W for missing terms.
=2 + 12x — 150

-2+ Ox+ 8
12x — 158 <— Remainder

Missing term

Question 3: (4 points): (R.4 Exercise 32 and 40): Factor
(a): 36x°+18x*—4x
(b): 18x°+15x‘z —75x°z?
Solution:
(a):
32. Factor out the greatest common factor, 2x:
3627 +18x% —4x = 2x(18x% +9x - 2) . Now
factor the trinomial by trial and error:

[8x% +9x—2=(6x—1D(3x+2). Thus.
36x° +18x% —dx = 2x(6x — 1)(3x+2).

(b):
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41 First, factor out the greatest common factor,
X
18x7 +15x%7 - 7577 = 3% (fu-2 +5x7— 2523')
Now factor the trinomial by trial and -
error: 6x” + Sxz— 25:2 = (3.\7 — 52) {21 + 5:)
Thus,
18x° +15x%z = 754722 = 3%° (fu'z +5xz— 2522)
=3y (3x—5z)(2x+ 5zj

Question 4: (4 points): (R.4 Exercise 96 and 97): Factor
(@): g*+6q+9-p°
(b): 64+(3x +2)°
Solution: (a):
96. q*+6q+9-p*=(¢"+6q+9)—p
=1 ¢" +2g)3)+3* |- p?

=(g+3)° - p*
=[(g+3)+ plllg+3)— p)l
=(g+3+pig+3—p)

(b):
97. 64+ (3x+2)°
=+ (3x+2)

= |_4+(3,x'+2))[42 —(4)(3x+ 2)+ (3.t+ 2)1
_ (4}(3,x'+2)

[4+(3x }]{ 9.r2+]2.t+4}

= (4+3x+ )(lﬁ—lm—8+9x3+]2x+4)
(h+f})(9r2+|")

=3(x+2)(3)(3x7 +4)=9(x +2)[3x3+4)
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